A 2EH
M Al
b

x
oel: A

JEE L=t 106,085,981 100,569,382 5,516,599
= 71,530,222
2 19,846,000
Jl 561,902
[ 14,147,857

ASRSABAR D(STHLSA/52 - 55 76,907,490 67,510,766 9,398,724
= 65,979,326
=l 420,000
7l 561,902
[ 9,946,262

IsAsY |4 25,341, 181 21,099,657 4,241,524
= 21,285,511
=l 420,000
= 3,635,670

SIIEHIE XY(2D) 15,680,000 13,888,000 1,792,000
=2 14,000,000
[ 1,680,000

308 XHXI EHXI SO & 15,680,000 13,888,000 1,792,000
=2 14,000,000
[ 1,680,000

01 IXISHBAEES 15,680,000 13,888,000 1,792,000
CESIET =) 15,680,000
2 14,000,000
= 1,680,000

EAWBH EZAIR(2D) 4,682,872 4,815,501 132,629
= 4,149,000
= 533,872

308 XHXI SHRISOI & 4,682,872 4,815,501 132,629
= 4,149,000
[ 533,872

01 XIXICHHZARER 4,682,872 4,815,501 A 132,629
OELMH K 4,682,872
=2 4,149,000
[ 533,872

S ASANTELAR (2 D) 630,000 420,000 210,000
e 420,000
=S 210,000

403 XHXISHH S =01 & 630,000 420,000 210,000
z 420,000
[ 210,000

01 IXSHREEE 630,000 420,000 210,000
ORBASYN AT 630,000
2 420,000
[ 210,000

JeAse AFEH(2D) 1,882,351 0 1,882,351
= 1,882,351
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SA:
X ZH ;
(= I

EEE

HEAsD
NPRSAYHR D (SYNL 2L /5D - &)
AEAsY 84 (ol @R)

308 XXt S0 & 1,882,351 0 1,882,351
= 1,882,351
01 AIXEHHMBAEES 1,882,351 0 1,882,351
ox&B=Y AYXNEN 1,882,351
= 1,882,351
el seE RSE4ds 395,500 127,500 268,000
202 G4 Hl 10,000 11,000 21,000
01 SLHOIYI 10,000 11,000 21,000
OEZT=gY SHYR FH 10,000
308 XXl EtM S0 ™ 270,000 27,000 243,000
01 UXtHMBL4EES 270,000 27,000 243,000
OrEZ EsME XEM X 60,000
O UZAKEASMS ML STTHXIE 210,000
403 XX EtH SAH=0l ™ 115,500 89,500 26,000
01 HXIEMA2EE 115,500 89,500 26,000
OXEHASLE BSSEFANE - ZHIXE 108,000
Ostuzgal MEFsHE FSEHIXY 7,500
HEHsY AP &S 196,500 108,000 88,500
403 XM SXH=0l ™ 196,500 108,000 88,500
01 AXIHMA2E = 196,500 108,000 88,500
orlEF=Y NEMHHX =4 103,500
OXESHASHE HAEHUANE XF 18,000
RISLE ME - HBAE X 75,000
HEd sIMN 22 120,000 10,000 110,000
308 XXl EHM S0 ™ 120,000 10,000 | . 110,000
01 AXEHBLEEXS 120,000 10,000 110,000
ozsd s 33 120,000
s 5a 123,550 36,340 87,210
307 2Iz2t0l A 20,000 10,000 10,000
04 UZHAMNEE 20,000 10,000 10,000
O &ISLE 2HE 3 20,000
308 AXISHMSOIA 103,550 26,340 77,210
01 AXSHBAEEXS 103,550 26,340 77,210
OzEISLE USFAY| 48,750
OzEZ4¥=ge MBI FENS3 4,800
ORIZISI| 2 E 5} 50,000
SHIEE SHUX(21) 1,630,408 1,694,316 263,908
= 1,254,160
3 376,248
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SA HEBBEYD
B AYNSABAND(SPHYHL /5 - 5&)
Sel: HEF=Y |4 EERED

308 XX EHHI SOI ® 1,630,408 1,694,316 63,908
= 1,254, 160
= 376,248
01 XX SHHZ &R xS 1,630,408 1,604,316 £63,908
OsHIRSE XA 1,630,408
= 1,254, 160
= 376,248
A AWM 23 27,785,722 34,958,542 A7,172,820
= 27,292,744
b 261,902
= 231,076
DB M 190,500 1,351,500 A1,161,000
202 04l 7,000 7,000 0
01 2L 01t 7,000 7,000 0
ompAAS FT 7,000
308 XHXI EHRIS O & 75,000 75,000 0
NP EREES] 75,000 75,000 0
ODEAH MMEX =4 75,000
403 RXI EHH SRHE0I W 108,500 1,269,500 A1,161,000
01 RHXSHHAZ S 108,500 1,269,500 21,161,000
oH S2AE N 65,000
OH sy 36.000
ol X 28 t2A 29,000
oRHeM RSAZI| 22 30,000
oH S|SB XS ASAL 13,500
HEYE AT SIAMSIKH 30,000 8,000 22,000
308 XX EHHI SOI ® 30,000 0 30,000
IR EENERTES 30,000 0 30,000
ondYs AAE AN K& 30,000
= ASIIE OGYSAY(2D) 734,000 5,000,000 24,266,000
= 734,000
308 XHXI EHRIS Ol & 734,000 5,000,000 24,266,000
= 734,000
01 HXSHBAEES 734,000 5,000,000 4,266,000
O= ASIIY Ctgs 734,000
= 734,000
YRymp 29(21) 75,000 74,042 958
=2 75,000
201 YErE | 13,400 12,714 686
= 13,400
01 AL 22| 13,400 12,714 686
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=
e

Hm:
=EE

[
40
[2
o

FEEEEETS 13,400
= 13,400

202 01t 14,000 13,728 272
=2 14,000

01 24 O1HI 14,000 13,728 272
ogzpel =X 14,000
= 14,000

308 XtXI M SOI & 47,600 47,600 0
= 47,600

01 HXISHBARES 47,600 47,600 0
ONZ YFR2IYR =X 47,600
= 47,600

MASEMISH (AL R2IH ) (2D) 261,902 300,000 38,098
p 261,902

308 XX EHH SOl & 261,902 300,000 38,08
b 261,902

01 HXISHHBARES 261,902 300,000 138,098
ORASHINER (AL B2IH) 261,902
b 261,902

HAS SINZXEM(SD) 26,453,234 28,000,000 A1,546,766
= 26,453,234

308 XtXIHHISOI & 26,453,234 28,000,000 £1,546,766
= 26,453,234

01 XXM Z AR ES 26,453,234 28,000,000 1,546,766
OBASEHIZXEH 26,453,234
= 26,453,234

HTEIIB 0128 LA BOY 6,000 0 6,000

403 XIS HSRH=0I & 6,000 0 6,000

01 RXISHMA=2EE 6,000 0 6,000
OBXEI| X 6,000

HolE WHH XV(2D) 35,086 0 35,086
= 30,510
= 4,576

308 XtXIEHHISOI & 35,086 0 35,086
= 30,510
= 4,576

01 KX SHHBARES 35,086 0 35,086
OHHE YA X 35,086
= 30,510

= 4,576 |

PR MM XY 9,704,044 342,875 9,361, 169
= 7,724,364
b 300,000
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SA:
=EE

e

s
A SAWARY D (s
S MADE =4

1,679,680

(9 d L)

40

FIAGIS 2=2 233 A2 1,421,680 312,650 1,109,030

202 01t 4,000 5,000 21,000

01 4ol 4,000 5,000 21,000
OFTAISZ SR 4,000

308 XHXIEHHI SOI & 469,680 292,650 177,030

01 HXESHBExZ 469,680 292,650 177,030
OIZSLX HAH XY 103,680
ozs++ Y= 75,000
OAXFALUE A3 X 291,000

403 XX EHHI S XH2OI & 948,000 15,000 933,000

01 RHXISH A2 2 X 948,000 15,000 933,000
OURANNES £4 120,000
OMNZXt HWBELEE N 90,000
&Y BUHEKEL 174,750
0= 44 HXSSHEHAY 210,000
OBMHN - RS HELXSY 252,000
OBIAYIIYEY 75,000
OIISHULTHER =4 26,250

R CRI=E Y En) 450,000 0 450,000
ol 300,000
= 150,000

403 XX EHXI S XH2 01 & 450,000 0 450,000
p 300,000
= 150,000

01 XX SHH AR EE 450,000 0 450,000
oRNESSUCSH 450,000
b 300,000
= 150,000

2NN (D) 7,724,364 0 7,724,364
= 7,724,364

308 X+XIEHH SO & 7,724,364 0 7,724,364
= 7,724,364

01 AN ESHBSEES 7,724,364 0 7,724,364
o= MEX 7,724,364
= 7,724,364

SRR 108,000 30,225 77,775

308 X+l EHHI SOl & 108,000 30,225 77,775

B Y EREELT] 108,000 30,225 77,775
OsXEWHLE N 108,000

=I5 ¥ ASOHE 14,076,543 11,109,692 2,966,851

-470-



2A:

=L

£9l:

XEA=]

EE=R=
Al atxu:D::@a

A
sIAHE & A

9.676,707

4
ra
o

=
[ 4,399,836
=J1 WA (2 D) 2,400,000 1,800,000 600,000
=2 2,000,000
[ 400,000
403 "X SHHS =01 & 2,400,000 1,800,000 600,000
= 2,000,000
= 400,000
01 ISR EE X 2,400,000 1,800,000 600,000
O HL ALY 2,400,000
=2 2,000,000
= 400,000
ZAZANAZERMAL (2 D) 8,060,543 7,294,192 766,351
=2 7,676,707
[ 383,836
201 YB2H| 2,500 2,500 0
=2 2,000
[ 500
01 At 22l 1,500 1,500 0
OZAEXEH TS 1,500
= 1,200
[ 300
03 A2 HI 1,000 1,000 0
OZXAETENAES 1,000
= 800
[ 200
202 Oi | 3,000 3,000 0
=2 2,400
=5 600
01 2ol 3,000 3,000 0
OZABAXNANEMET 3,000
= 2,400
= 600
308 Xt XISHH SOI & 8,055,043 7,288,692 766,351
= 7,672,307
= 362,736
01 XIXISHHZABED 8,055,043 7,288,692 766,351
OZABANARNENSED 7,932,011
=2 7,555, 134
[= 376,877
OZASAXNANEH (HFY) 123,082
= 117,173
[ 5,859
=I|1H=23 2,416,000 2,015,500 400,500
202 o1 7,000 10,000 £3,000
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SN HEY YD
HE: ABTSAYAR D (SUHL L/ -
el SIS L AS

01 IO 7,000 10,000 23,000
OsgIIAHE ¥ ASHFEFA 7,000

308 XXM SOIA 2,409,000 1,950,000 459,000

01 X EHHBHEES 2,409,000 1,950,000 459,000
O=gE& HAR 7Ll X3 2,313,000
O UisIIAH +2l28H NJ 96,000

HEsIIAH SHA 1,200,000 0 1,200,000

403 XXM SA=0IH 1,200,000 0 1,200,000

01 AXEM A2 EXE 1,200,000 0 1,200,000
OUESIIHYUAA 1,200,000

SHMADIB T (sEdgss/sY - sE) 26,580,816 28,226,061 21,645,245
= 5,550,896
= 19,426,000
(= 1,603,920

AN EZSHA =8 11,332,000 11,862, 165 A530, 165
= 5,526,000
= 4,956,000
< 850,000

Bis=JH& AR (=) 5,226,000 4,433,000 793,000
= 5,226,000

402 QI2HXHE0I ™ 5,226,000 4,433,000 793,000
= 5,226,000

01 2I2ttEEx 5,226,000 4,433,000 793,000
Ot 5,226,000
= 5,226,000

SHUMHHl E4MEAMYE (D) 300,000 1,460,000 41,160,000
= 300,000

403 At XISHHMSKH201H 300,000 1,460,000 41,160,000
= 300,000

01 AXEHA=EXE 300,000 1,460,000 21,160,000
OStLHHIE4He 300,000
= 300,000

ANE SEES LA (S 0-8oHE) 834,000 834,000 0
= 834,000

403 ItXISHHSXH20/H 834,000 834,000 0
3 834,000

01 AXEMA=ExE 834,000 834,000 0
OATRR=ESSNE 834,000
3 834,000

NES2Y WAL (2 D-5482) 569,000 1,409,000 A840,000
3 569,000

403 I XISHHMSKH201H 569,000 1,409,000 £.840,000
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SN ASESD
HH: sMAIE M (SEHSSM/SY - 5E)
Sel: OEN 24IIHN =Y (St He)

01 XIS =EE 569,000 1,409,000 £840,000
OXE: 22 N 569,000
Z 569,000
NES22 HLA (2 D-80r2) 1,400,000 500,000 900,000
2 1,400,000
403 X+XI M S X201 & 1,400,000 500,000 900,000
z 1,400,000
01 RIS =L X 1,400,000 500,000 900,000
OXES 22 Ny 1,400,000
= 1,400,000
SEME BLNLAY(ZD-SAER) 953,000 1,410,000 £457,000
2 953,000
403 X+XI SHXI S XH2 0| & 953,000 1,410,000 457,000
2 953,000
01 HXESHXESE 953,000 1,410,000 A457,000
OsE=gMass Ny 953,000
Z 953,000
SEME S4IHLAY(ZD-80IR) 1,200,000 242,000 958,000
Z 1,200,000
403 XEXISHH S X+ 0| & 1,200,000 242,000 958,000
z 1,200,000
01 XIS 2EE 1,200,000 242,000 958,000
OsEsMess He 1,200,000
z 1,200,000
NZ $2IAE HES 500,000 400,000 100,000
403 REXISHH S XH2 Ol & 500,000 400,000 100,000
01 XIS =L E 500,000 400,000 100,000
22IAE WS 500,000
2RSS IISUHUANLY 100,000 0 100,000
403 XHXI SHHI S XH2 0| & 100,000 0 100,000
01 XS =L X 100,000 0 100,000
SRS ISUHBAY 100,000
SH+2 ZHAY 250,000 0 250,000
403 Xt XI SHH S X0l & 250,000 0 250,000
01 XS EEE 250,000 0 250,000
O 42 FHIAY 250,000
SIMADIEH FH| 15,248,816 16,363,896 A1,115,080
= 24,89
z 14,470,000
= 753,920
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SN ABASD
M EAMAD|E ZM(SRHLS/EY - 5E)
Sl S MADIE FY) (=L RE-E))

S M JIBHEHIAF (h P8 - 2D|eH) (2 D) 10,562,920 11,002,000 439,080
z 9,809,000
-3 753,920

202 01 B 18,920 20,000 A 1,080

01 2Uoi bl 18,920 20,000 1,080
OSAMAIIBIHHIAIY YR 18,920

403 XHXI EHHI S XHROI® 10,544,000 10,982,000 £438,000
z 9,809,000
= 735,000

01 XS 2EE 10,544,000 10,962,000 £438,000
onz=e ZXHeL 3,641,000
z 3,388,000
] 253,000
oIlet F| 6,903,000
z 6,421,000
= 482,000

IHSERZ HEFAY(ZD-SAER) 1,458,000 2,503,000 21,045,000
2 1,458,000

403 XHXI M S XHEOI 1,458,000 2,503,000 1,045,000
z 1,458,000

01 HXSHR2EE 1,458,000 2,503,000 1,045,000
OINNEBRZ HEH 1,458,000
2 1,458,000

JHSBHZ HEZA(ZD-BOER) 3,203,000 2,834,000 369,000
z 3,203,000

403 XHXI EHHI S XHE Ol ® 3,203,000 2,834,000 369,000
z 3,203,000

01 HXISHMR2EE 3,203,000 2,834,000 369,000
@INEERE HEH 3,203,000
Z 3,203,000

SRMAABEA EEEX N (2D) 24,896 24,89 0
= 24,896

202 01t 2,89 2,8% 0
= . 2,8%

01 2401l 2,8% 2,8% 0
O=RMA AHEM BHEX YRET 2,89%
= 2,89

403 XHXI M SKHE0I A 22,000 22,000 0
= 22,000

01 XS 2R E 22,000 22,000 0
OZRMA AEBHEAN BHEX X 22,000
= 22,000

UHSAAH(SZSYW)(IIEH/IIEH) 37,000 28,215 8,785
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A WS
B URPAAY| (ML SLD)(IE/IIE)
S EPIEET (5@ 8)

JlE2&l 37,000 28,215 8,785

FN2EII2ZH] 37,000 28,215 8,785

201 B2 SEH| 26,000 21,015 4,985

01 At 22|l 26,000 21,015 4,985
2A2Y AR 26,000

202 GdHl 11,000 7,200 3,800

01 =W A 11,000 7,200 3,800
2A2g8 =UHobI 11,000

HWRes(adsdn)(sdolgsdt/se - 5&) 2,560,675 4,804,340 22,243,665

SRR 2,560,675 4,804,340 22,243,665

ZNHESE 0l =4 2,560,675 4,804,340 A2,243,665

311 Xt =0l Xtats 633,475 1,027,140 A393,665

01 Al - SXISHLIISXH SO0l XHaHE 42,000 354,000 £312,000
OZXNIEEE O E=H(NYHLINZ) 42,000

06 JIEFXH S0l AH&t & 591,475 673,140 281,665
OAXNAZE OIMZH(SRIIB) 591,475

601 XY= =aE 1,927,200 3,777,200 41,850,000

01 Al - SXIGHEDI SIS AS &S 150,000 2,000,000 21,850,000
OZNEEE O =L (XNHNLII2) 150,000

06 JIEt=mUXIY =3 saE 1,777,200 1,777,200 0
OZXNAZE OIHZTH(SRIIZ) 1,777,200
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